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Question Number : 1 Question Id : 8135611281 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In the following statements

(1) Relation 1s a special case of function
(11) Function is special case of relation
(111) Both relation & function are same

& S0t VI 3555:33@6“
(i) Dotrotdad, DAL 031)56 ‘Qé}ss "cOGdeQmJ
(i) DB0CDBW, VoLWOEAD VL), DBIE VoG BV
(111) Do2IoGEAW, D0 Botir® 058
Options:
(111) 1s True. (1) & (1) are false

(111) Q2232. (1) S08a3 (11) @mgm
1. %8
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(1) 1s True. (1) & (111) are false

(1) 22800, (11) Sodos (111) @&)gm
2. %

(11) 1s True, (1) & (111) are false

(11) Q22300 (1) S8R (111) 92IGHD
3. v =

All (1). (11) & (111) are true
1 (1). (11) & (111) & &9.‘0:1 D2

Question Number : 2 Question Id : 8135611282 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If cos(f) + cos(f,) + cos(f;) + cos(6,) = —4, then the value of cot (%) + cot (i—z) +
03 05\ _
cot (?) + cot (?) =

cos f; + cos 0, + cos b3 + cos tl, = —4 AN, cot (Z—i) + cot (9—;) + cot (%) + cot (%) =

Options:
1% 4

4.v 0

Question Number : 3 Question Id : 8135611283 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The tangent to the curve y = e at the point (0, 1) meets the x-axis at

(0,1) Dotk 3¢ y = e 35708 fided Y6y B x-OF) Pociotd Dok

Options:
1. ® (2,0)

PR (:0-0)

Question Number : 4 Question Id : 8135611284 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following is not a root of f(x) = x¥ — 11x% + 36x — 36 ?

& 808 T°S° 8 f(x) = x3 — 11x% + 36x — 36 FrLAD S°EL?7

Options:
1. % &
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Question Number : 5 Question Id : 8135611285 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Let u and v be two vectors, Then [u—v| = ||u| - [l?|| if and only if

1 8050 ¥ &) ot 063w [ —v] = |[u] - [v]] erqos 055950, DU B0 D

Options:
 w lul=1vl
u and v have the opposite direction

U 003 v e ;55@6343 &3 VHI

e

u and v have the same direction

& o U 000D ¥ 20 DEAF DAFW

u and v are perpendicular to each other

4 % WS000I0 V0 Lot) DB

Question Number : 6 Question Id : 8135611286 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

m/2
x+sinx
f gdx =
1+ cosx
0
Options:
T
1.% 4
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w | A

m|:1

Question Number : 7 Question Id : 8135611287 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The directrix of the parabola 2y? + 25x = 0 is

2v2 + 25x = 0 HO°HOODDY) oS B DAEGEIAD

Options:
1-\//8.1'_25:0

. | o
2.“8"' 25=0

Question Number : 8 Question Id : 8135611288 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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X2+ 5x+7 A B C
If — — + = _3tllen9A—BB+C:
(x—3) (x—3) (x—3) (x—3)
x2+5x+7 A B C

7 S e — 9Q0N, 94— 3B +C =
(x—3) (x—=3) (x=3) (x—3)

Options:
1. % 2

Question Number : 9 Question Id : 8135611289 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

3.1'
——— dx =
[\-'1 — gx

Options:

;o SINTH(3Y) - (log3) ™" +c

e Sin"1(3*)-log3 + ¢

1 _
—Sin"(3*) + ¢
3. % 3

1
—Sin~}(3%) + ¢
4. % 9
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Question Number : 10 Question Id : 8135611290 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The point to which the origin should be shifted so that the equation y* — 6y —4x + 13 =0
will not contain term in y and the constant term, is

yi-6y—4x+13=0 ), Graodd 2aDEBHANS" v HEAD SBaD gw%’ &'0d
E0o) BT VAredd HBGR TT° LrDotoPHAD @ DotdHsy Sr0°\d?

Options:

5 & 1

4.v (1, 3)

Question Number : 11 Question Id : 8135611291 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If on an average 9 mountain climbers out of 10 return safely, what 1s the probability that with
§ climbers out, at least 4 will return safely?

AN S 10 200 HEETTEVE" 9 B0t WEESI0T BBA ST 6. 5 A

DRV SR 4 6 WOLSKNTT BBA Stix0L) Ko

Options:

1. %

AP EAMCET 2020 _
collegedunia:s
India’s largest Student Review Platform

el



AP EAMCET 2020

95 x 7
50000

94 x 7
5 « 50000

95
. % 100000

9% x 3
50000

4, %

Question Number : 12 Question Id : 8135611292 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If S, and S, are two straight lines such that the reflection of S, in S, and the reflection of S, i
§; coincide, the angle between S, and S, 1s equal to

S, 08050 S, &0 Totl) WE¥ Baden. 5, ‘53'3“75 S, DADowT 805 S, C:}gg"?s Sy
20D DSHR, BV S, 5, Gadw 6| Sracdwy .

Options:
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Data Insufficient

QTP whowgm
4, %

Question Number : 13 Question Id : 8135611293 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The equation of the asymptotes of the hypetbola 2x% + 5xy + 2y2 = 11x =Ty =4 =01s

2% 4 5xy 42y — 11x - 7y - 4 = 0 0300500528 (o 6508 )6\50 Hgbnan=

Options:

20 +8xy +2y* —11x -7y -9 =0
, »2x3+5xy+2y2 —11x— 7y +5=0
3 % 2x2 4+ 5xy +2y2 —11x -7y +4 =0

' 2x%2 +5xy+ 2y —11x -7y +9=0

Question Number : 14 Question Id : 8135611294 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If f:R — Risdefinedas f(x) =x—[x] +3, Vx €R. then f 1s

fiR=>R& f(x)=x—[x]+3, Vx ER ™ 6N, &Y\ f

Options:
Not a function
1 % 22000 S

AP EAMCET 2020 _
collegedunia:s
India’s largest Student Review Platform

el



AP EAMCET 2020

A periodic function with period

o W8 8565 DACDHAW. B B BI6J0

A periodic function with period 1

03] €35000 1 T° (L 208 €356 20D
3.¢ = N

An invertible function
4 % 22001708 De5"H0A0 Gt

Question Number : 15 Question Id : 8135611295 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the line v = 2x + ¢ touches the curve x? + 4y? = 4, then ¢? =

xZ +4y* =4 &‘;E":)l y=2x+cd® ‘6333%2_9 ct =

Options:
;. % V65

2.v 17

Question Number : 16 Question Id : 8135611296 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

AP EAMCET 2020 -
e collegedunia:

India’s largest Student Review Platform

el



AP EAMCET 2020

Orientation : Vertical

The equation of a circle which touches the x-axis and whose centre is (1,2) is

-o) Py, (1,2) So@snrr o 3)8 RE6RIN

Options:
 x =2 +(-D*=4

, ¢ B=aErip—ar=4

I
S

3 u &E—=1*%(y+2)°

Il
o

4. % (c42Y +(y— 1)°

Question Number : 17 Question Id : 8135611297 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Find the general solution of 3 sin*(6) + cos*(8) =1

3sin*(0) + cos*(0) = 1 & 683 G-

Options:
nm only
NI ")

1. 8

TS 8
nit 40'11}

nm + = b ulaNeb)
2. % 4
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T
nm — — only
4

nmw — % T HaD

T T
nmw. nm + T and nmt — —

4

T T
nmw. nr +— Q2003 nmt ——
4. 4 4

Question Number : 18 Question Id : 8135611298 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

2 =

ol B

Calculate the area enclosed by the curves x

¢? =2 —y 2Bai 1 =y S5Tend eSSy D833 DTN

Options:
.

1.% 3

4

Question Number : 19 Question Id : 8135611299 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

Eliminating a and b from the relation y = alog x + b, we get

y = alogx + b adg6m08" a 208ak0 b 0 FLheIT Sty PaEGERI
Options:

1 @ XV2 + vy, =0

.
> ® XY —) 0

3. % X tyi=

4% VyV2+x=0

Question Number : 20 Question Id : 8135611300 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If a,p,y are the roots of x® —2x% 4+ 3x — 4 = 0 then find }, aff(a + )

32— 2x% + 3x — 4 = 0 £ Sareren a,fB,y @ Y af(a+ ) =

Options:
1. % —2

2.v 0
3.% 0

4.“2
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Question Number : 21 Question Id : 8135611301 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Three dice are thrown. Given that they have a sum of 8, the probability that one of them is a

four 1s

S0r6) TSV FOTH. & Ro[R) QB0 8 LONIYYW. wET) cs 4 AV
‘dui‘,?bée’.’!

Options:
9

11

xllf..u

o | &

Question Number : 22 Question Id : 8135611302 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The area of the parallelogram, whose diagonalsare 27 — j + k and i + 3] — k. is equal
to $q. units

20— ] + k 0Bty i +3] — k ST0ur (0 DArods By DTV
BG62) QP
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Question Number : 23 Question Id : 8135611303 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The general solution of the differential equation tan(y) dx + sec®(y) - tan(x) dy

tan(y) dx + sec(y) - tan(x) dy = 0 e580 ANEBETDE eroe Fod

Options:

| % sin(y) - tan(x) = ¢

5 sin(x) -tan(y) = ¢

w sin(x) +tan(y) =c

e sin(x) —sin(y) = ¢
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Question Number : 24 Question Id : 8135611304 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

If P(—3,-2,4), Q(—9,-8,10) and R(—5, —4, 6) are collinear. then the ratio in which
R divides PQ 1s

P(-3,-2,4), 0(—9,-8,10) 208050 R(—5,—4,6) Dotoyen 2ORAIre 900,
R Dot PQ 8oty FEod dind?

Options:
1.« i

Question Number : 25 Question Id : 8135611305 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

1 + tanh(x/2)

1 — tanh(x/2) 2

Options:

AP EAMCET 2020
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| 2

Question Number : 26 Question Id : 8135611306 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If a line drawn from a fixed point M(a, b) cuts the circle x? + y* = k? at C and D. then
MC x MD 1s equal to

M(a,b) Botio) thor JFad 28 8 x° +y° = k? ) € 2B D Dotk 5¢
mnﬁé, MC x MD =

Options:
, @ +b* R
2'\,az+b2—k2
5 a2 — pe — %2
4% K°

Question Number : 27 Question Id : 8135611307 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The number of ways of choosing a committee from four men and six women so that the
committee mcludes atleast two men and exactly fwice as many women as men 1s
Serirdy AL 2B 6 HORV0E 28 SB D6\GBIT. &8 SBE’ S0
2 QB0 Eotim 2608 &8 SBE o Do SES"D YAWRVY Vo(E 00

GolITIV), & N D6y 6E80 DT A0V R0

Options:

2 % 92

3. v 94

4. % 96

Question Number : 28 Question Id : 8135611308 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The equation of the line passing through the pomt of intersection of lines 2x —y+2 =10
and x + y + 4 = 0 and the point (5,-2) i

20— y+2=0 208050 x + v+ 4 = 0 30 Dot Mor=dr, 8ok (5,—2)

Doty Moot ek B PREGEA
Options:

T P IT 2=20

2. &8 y—2=0
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3 % 4x —3y—6=0

Xx—y—17=
% ]

Question Number : 29 Question Id : 8135611309 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

i) = logxz (logx) . then f'(e) is equal to

flx) = logxz(log:{') o, f'(e) =

Options:
e

1. 8

Question Number : 30 Question Id : 8135611310 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The radius of the circle 2x%2 +2y? —3x+2y—1=01s units.

2x% +2y% —3x + 2y — 1 = 0 38 oG5 OO .

AP EAMCET 2020 .
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Question Number : 31 Question Id : 8135611311 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

m/2

sin(x).cos®(x) dx = % then the value of f cos*(x).sin“(x) dx =
1]

m/2
If the value of J

0

m/a 1 n/2
J sin(x). cos?(x) dx = = UOJJKJ.J cos*(x).sin’(x) dx =
] 0
Options:
T

f, o 5
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Question Number : 32 Question Id : 8135611312 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the mean and standard deviation of a binomial distribution are 20 and 4 respectively. then
the number of trials 1s

w8 BGIG DTRT RS CEERVAIGVAVE 20, S08050 FAreis DeiRE0= 4 90N,

20T\ "fooa,}é

Options:

2. % 50

, 200

Question Number : 33 Question Id : 8135611313 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The angle between the tangents drawn from the point (1,4) to the parabola y* = 4x is

(1,4) dod y* = 4x Do-d008rI8 o )06 80 ¢ Seado

Options:
T

1.% 6
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Question Number : 34 Question Id : 8135611314 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

(ax-b)
(x—1)(x—4)

It y= has a turning point P(2, —1). then the values of @ and b are
B (ax—Db)

P )9

I3V ,

0Raird8 P(2,-1) 36 00k Dodoi) 0. wank, a Bako b

Options:
1 wa=0,b=1

N
N
=
I
(-
o
I
-

w
&
~
I
|
A
h’::"
I
o

Question Number : 35 Question Id : 8135611315 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the bi-quadratic equation f(x) = x*+2x* —16x* —22x +7=0 has 2 + V3 as one
of its roots, then which of the following 1s not a root of f(x)?

Fx) = x* + 2% — 1637 - 22x +7 = 0 BGIS DSV 2+ V3 28 Jaredw
00D, & $08 TS f(X) = 0D rOsW TS

Options:

v 3-V2

) % 2-V3

-
x — 3+ V2

4 % —3—V2

Question Number : 36 Question Id : 8135611316 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

2019)

If f:R - R is defined as f(x) = (2020 — x***)V®1 v x € R, find (fofof of ) (2020

F:R= R f(x) = (2020 — xO9)/2015 v € R e DS, (Fofofof) Ggi)

Options:
1. % 1

2.3“0
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collegedunia:s
India’s largest Student Review Platform

el



AP EAMCET 2020

2019
3 2020

2020
4 % 2019

Question Number : 37 Question Id : 8135611317 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
If f'(x) =asinx+bcosx, f'(0) =4, f(0) =3and f(n/2) =5. then f(x) =
f'(x) =asinx+bcosx, f'(0) =4, f(0) =3 08w f(n/2) =5 AN, f(x) =

Options:

1 % —2cosx—4sinx+1

) o 2cosx +4sinx+1

3 % 2sinx —4cosx+1

4 % 2sinx +4cosx +1

Question Number : 38 Question Id : 8135611318 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

From § consonants and § vowels, how many words can be formed using 3 consonants and 2 vowels?

D 000, DO BEINY Ao SAPED 1PN, Toth) BiNL GG DESNVRY D66V
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Options:
, » 12000

, % 2000

2 % 20000

4 % 1200

Question Number : 39 Question Id : 8135611319 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The length of the perpendicular from (1,—2) to the line 12x + 5y + 63 =0 1s

(1,-2) DotdPHod 12x + 5y + 63 = 0 5L (1L VoLEPEAN =

Options:

85
« 13

Question Number : 40 Question Id : 8135611320 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Orientation : Vertical

If one end of the diameter of x* + y% — 2x — 6y — 15 = 01s (4, 1). then the co-ordinates of
the other end 1

24yt = 20— 6y — 15= 0 92708 (i w8 TR w8 W6 (4,1) ©owd, & ot

AR

Options:

1. 8 (51_2)
2.v (=2, 5)
3' W (la 3)

o x C2,-5)

Question Number : 41 Question Id : 8135611321 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the lengths of the sides of a triangle are 15,20, 25 units. Find the circumradius of the triangle.

WS S2ba Zarw Tdapen 15,20, 25 arborr o Gzbadw 1B 353“%&:0

Options:
30 umnits

- 30 oot
1. ® e

7.5 units
7.5 arQL
2. % -
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12.5 units
- 12.5 cdorrdtw
3. v "

20 units

n 20 c3rew

Question Number : 42 Question Id : 8135611322 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the line y = mx is one of the bisectors of x? + 4xy — y? = 0 . then value of 2m =

+dxy—-y* =0 6&3"0&1}%@ 28 § EIRVA(DOCA B ¥ = my VO, 2m =

Options:

2. % 1+5

s u =8 —+/51

—_—

Question Number : 43 Question Id : 8135611323 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Number of unit vectors of the form a i + bj + c k, where a,b,c € W is

ai +bj +ck, ab,c €W 6P o aLrdES DOTO Vo
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Options:
T 2

2.3'3‘4

4,

Question Number : 44 Question Id : 8135611324 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Statement-I: Two lines which pass through a given fixed point and are equally mclined to
two other lines passing through the same point. are always perpendicular to each other.

Statement-II: Angle bisectors of two intersecting lines are always perpendicular to each
other

D3c580-1: @Dy Dothdy) ot o) Boch Faen, &8 Dotk et J'oh I Boch

B0 S6§ ErTOR VAR 0 odBB, 268 Boc Saen wSTrIESH vorren.

D0-I1: 23 Dot 96 oCtotsIsId Tockd VOV Barw e DL Tade JYy&r
WETTRE E8) VOETLIT GobtToN.

Options:
Both the statements are true and statement-II 1s the correct explanation of the statement-I

i o 006 ST 2. PIdRE0- £ DSV~ PBAD DB

Both the statements are true but statement-II 1s not the correct explanation of the statement-1
5 % 006 DI 2. DIINE0-| £) DILIHH-I PBA DB S°
L3 ™
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Statement-I 1s true and statement-II 1s false

5 % 2R~ 232800 SR~ wmg;ﬁn

Statement-I 1s false and statement-II 1s true

et~ vt.)go 2030l Do
4, %

Question Number : 45 Question Id : 8135611325 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

- 2n+1 |
Let R = (5V5 + 11) " and f = R —[R] . where [x] denotes the greatest integer less than
or equal to x, then Rf =

5 I+
[x] 6488 rTroidos < x & koo, R = (V5 +11)  ; f =R — [R] wowd Rf =

Options:
2ﬂ+1

1. %

5 3 22n+1
e

n+1
3. % 4

Zn+1
a0

Question Number : 46 Question Id : 8135611326 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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a 2b 4c
25+ uptontermsthen A=12 2 2=

3 5

FEE W

a=14+2+4+ N DGV 68, b=1+3+9+

c=145+25+ N A0 05, VONN, A=

Options:
. % (30)7

PR (10)n

3.¢

i x PEFFLTE

a
2
2?1

L]

;;;;;;

uptontermsandc =1+5+

2b 4c

2

& 3

N DAV 0L 0003

2 | dewdd

Question Number : 47 Question Id : 8135611327 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the term independent of x in the expansion of (

N 10
(Vi-%)  Dacns’ hooean 405 wawd. k =

2

Options:
3 only
3 oo

1%

x2

- 10
Vx — i) is 405. then k =
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—3 only
—3 SrdhaD

Question Number : 48 Question Id : 8135611328 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
3Xx

lim (1 +~—) =
x—00 X

Options:

Question Number : 49 Question Id : 8135611329 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The angle between the pair of tangents drawn from (1, 3) to the circle x? + y* — 2x +
4y —11=01s

(1,3) Dotoi &00) ¥ + 77 — 2 +4y — 11 = 0 358 A3 29,6 Baratoor, 206
§rasm

Options:

n (55)
Sin —_—
1. 25

s~ (2)
2% \25

Question Number : 50 Question Id : 8135611330 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Find the number of marked points on the plane. if when connected pairwise by line segments.
the total number of line segments formed 1s 15.

28 DBVeY” §Q) DotV MHBot) Bolia ey GED Bar W0k JEYGyT
15 B D616, B0 Dodi)e o

Options:
1, % 5

2.% 4
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Question Number : 51 Question Id : 8135611331 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

(l + cos(380) + isi11(36'))20

1 + cos(368) — isin(38)
Options:

7 cos(608) + i sin(608)

« €os(608) —isin(606)
. €0s(208) + isin(208)

% i cos(208) — i sin(208)

Question Number : 52 Question Id : 8135611332 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The angle between the lines with direction ratios (2,—2,1) and (1,-2,2) is

(2,-2,1) 208050 (1,~2,2) &S Roadeorr o) Saw) S e300

Options:

1. 8
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Question Number : 53 Question Id : 8135611333 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If f 1s a continuous real valued function. then the range of the function 1s

W8 TR V] DAVADAW f WD) 0 VoS, TR T(W

Options:
.« 19,11

[ Minimum(f), Maximum(f) ]
. [83%0(f), aot0(f) ]

; x [0)
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Question Number : 54 Question Id : 8135611334 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

1
If cosecB + cotf = ; . then 6 lies in the

1
cosec B + cotf = 2 200, §3:290 6 S0 G

Options:
1*' quadrant
;135 raa

2% quadrant

Y, 255 e300

3™ quadrant
. 33 eesd

4™ quadrant

j w30 FB2

Question Number : 55 Question Id : 8135611335 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If Ix? + 3xy — 2y% — 5x + 5y + k = 0 represents a pair of perpendicular lines. then

x> +3xy—2y* - 5x+5y+k=0 AEGEAN wE Vo 6&_3‘&1»!1‘&31 SUARNDR) Y

Options:

 x k=13 1=+2
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k=22, 1= —12

2. %
Lo k==31=2
s wk=-16,1=9

Question Number : 56 Question Id : 8135611336 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the curved surface area of right circular cylinder inscribed in a sphere of radius 22 cm 1s
maximum then height of the cylinder will be

22 cm ARG (i AYaS” eodidi® AR 580 DTeRw o ArddD J___.

Options:

11
= cm
1.8 N8

5 » 11vZ cm

- (0.22)V2 m

4 w (04 1)vV2 m

Question Number : 57 Question Id : 8135611337 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The index of the power of x occurring in the 5™ term from the end in the expansion of
(Ig ? )12 .

=T 18

2 xf

% 12
(-2;- - ;;) D0 D38 Do) 535 DEZWES” x g, DB
Options:
1. % 3
) % =3
3. % 4
4.v 4

Question Number : 58 Question Id : 8135611338 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If

d (x4+x2+1

=ax + b,thena — b =
dx x2+x+1)

d (x4+x2+1

):ax+b o, a—b =
dx \ x%2+x+1
Options:

1.¢ 3
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Question Number : 59 Question Id : 8135611339 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

In—l

Options:

1 i
— Tan — ) 4
1. ¢ 2n 2

n x™
— Tan~? (—) +c
2. % 2 Z

n o _, XN
— Sin — 4+
3. % 2 .

1 o
— Tan (T) +€

Question Number : 60 Question Id : 8135611340 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Q

Va+ x

—a

Options:
arm

1.% 2
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Question Number : 61 Question Id : 8135611341 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A bag contains 5 blue and an unknown number x of red balls. Two balls are drawn at

random. If the probability of both of them being blue 1s e then the value of x 1s equal to

208 H008" 5 0o Lo, ¥ B LBIL GI7) Q. CIFEGTT 2 Lo BRVYE

5
Botir Jwod) SETRS HoePidyd — R, r=___

Options:
1.% 8

Question Number : 62 Question Id : 8135611342 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

AP EAMCET 2020 _
collegedunia:s

India’s largest Student Review Platform

el



AP EAMCET 2020

Orientation : Vertical

For which value of n € N. n! has 13 trailing zeros?

n € N, n! Dendes” DH6 13 S W) e 077 o), n =

Options:

. % 21

2. % o4
s P

4. % 60

Question Number : 63 Question Id : 8135611343 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Evaluate A2 + 21 if A = [} g‘

1 B
A=[1 Z]wmefb.AZ%-ZI:

Options:
. % 24

2,9 %4

3, x 44
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Question Number : 64 Question Id : 8135611344 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The difference between the greatest and least values of the function f(x) = —x + sin 2x on

[ m ﬂr
—= =118
o |

fx) = —x+sin2y, x €2, 2 o%oatrdd do g u8atw $3% Dense By

Options:
V3+/2
1.8 2
V3+V2 =
_|_
> % 2 6
Vh-l— :rr
3. &8 9
V3 T
4. 2 6

Question Number : 65 Question Id : 8135611345 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

R 4x s T2AE3N d
If y=Tan ' (1+5x2) + Tan™? ( ) .then'—:)f- =

4 2+3 d
y = Tan™? ( - ) + Tan™? (3 x) ; e.om::a‘)--z- =

1+5x°
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Options:
1 4 2
1 % $425x%  Ltx?

5 + 2
1+25x2 1+x2

2. &

5
3 1+25x2

1
4. % 1+25x2

Question Number : 66 Question Id : 8135611346 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Two point 4 and B with co-ordinates (1,1) and (-2, 3) respectively are given. Then the
locus of a point P so that the area of APAB 15 9 sq. units 1s given by

A 208050 B 09 ot Docoidv) Ardsmen S (1,1) , (-2, 3) Sgoadw. PAB
DT 9 BEGY AhrE eaker BBl P Dodride DGR

Options:
1 JZI+3}'+ 13=0 & 2x+3y—-23=0

> % 2x+3y—23=0 & 2x+3y—13 =0

3 % 2x+3y—13=0 & 2x—3y+23=0

o 2X—3y+23=0 & 2x+3y+13=0
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Question Number : 67 Question Id : 8135611347 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Let a,b and ¢ be the lengths of the sides of a triangle with its opposite angles A, B and C

respectively. Ifa =3, b=4and A = Sin™" (%),then the angle B 1s

GZhRaNG' ZoRa00 TEPHW a,b, ¢ HHBHL & FHraae AWM YD) §'rasoen
AB,C 0080 a =3, b=4, A= Sin"l(%) w00, Emaw B =

Options:

1. % 30°

2, % 45°

3.v 90°

4, 60°

Question Number : 68 Question Id : 8135611348 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The scalar product of the vector @ = i + j + k with a unit vector along the sum of the

vectorsh =27 +4j —5kand © =21 +2j +3% isequal to one. Then, A =

b =20 +4] =5k T =41 +2] + 3k 2680 Dotod B3I o aLrdE HOIL
20800 @ = 1 4] + k PG o wbToRam Juod 1 0w, 1 =

Options:
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Question Number : 69 Question Id : 8135611349 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If PQRST is a pentagon. then the resultant of forces PQ, PT, QR, SR, TS and PS is

PORST $Hotszioe o008 PQ, PT,QR, SR, TS H0dain PS were HOS&Aw

Options:

, » 3PT

 « 3P0

Question Number : 70 Question Id : 8135611350 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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ax =

j 1+ tan®x
1 —tan?x

Options:

log (-Hﬂ-) +c

l+tanx

l+tanx
1-tanx

log (o) + ¢

i ™

| -}-log (i_m—n{) +E

3 % 2 1+tan x
1 1+tanx
?log (1_ ) + c
4. v fanx

AP EAMCET 2020

Question Number : 71 Question Id : 8135611351 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

4 g ) ’ y
Suppose z € C has argument & such that 0 < < ?aud satisfy the equation |z — 3i| = 3.

6

Then what 1s the value of cotf — —?
Z

6
z€C, zoinsbeoirmo meomf}{ﬂcr-;.|z—3£|:3vanacutﬁ— —

Options:
1, % 21

2 & 1
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% —2l

Question Number : 72 Question Id : 8135611352 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If (ay,by,cq), (@, by, c,) are the direction cosines of two lines making an angle 6 with each
other, then cos @ =

(a3, by, c1) 08030 (ay, by, ;)00 BS 80 o) Bothd G Sy e300 6 @00, cosf =
Options:

a;a, + by b; +c;c,

1. %

5 o laja; + byby + c;05|

. (aja, + byby + lez)/(v’?fag - blibz2 - Clzczz_)

Question Number : 73 Question Id : 8135611353 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Solve ix2—3x—2i=0

ix? —3x —2i = 08 ool
Options:
1. %
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—i only

—i e
—2i only

5 % —2i Srg
—i and —2i

3 o —i 003 —2i
i only

4w 1@

Question Number : 74 Question Id : 8135611354 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Find the least positive value of k. if the range of 15, 14, k, 25, 30,35 1s 23

15,14k, 25,30, 35 88ro7s T 23 00D ol k S0 (10 SR G ewsd

Options:

% 1

2. % 13

3.w 12

4 % 14

Question Number : 75 Question Id : 8135611355 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

100000
If [x] represents the greatest integer not greater than x . then [(1 g ﬂ) l =

; = _‘ 2 1 100000
[x]. x 0 Dot ALY T oS0 AP [(1 +——) ] -

Options:

1.% 1

Question Number : 76 Question Id : 8135611356 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The range of the observations 20,28, 40,12, 30, 15,50 is

20, 28,40, 12,30, 15,50 080D T2 $R08) oC..

Options:
1. % 18

2. v 38

3, % 28
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4. 8 26

Question Number : 77 Question Id : 8135611357 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

In AABC, 2A = 30° 4 £C and R — (v/3 + 1)r = 0 where r is the inradius and R is the

circumradius. then

ABC dz0a30¢" 24 =30° + £C 308050 R — (V3 +1)r = 0. r 208050 R &0 @863,
0BaH0 PERIHBTIIGAL BANR,

Options:
ABC 1s a right-angled triangle
\ o ABC 28 wor€ 5adzadn

ABC 1s an equilateral triangle

5 % ABC 20e°5300 9202320

ABC 1s acute angled

‘i ABC ©0§'ta 820250

4 8 LA=175° £B = 60° £C = 45°

Question Number : 78 Question Id : 8135611358 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Find the solution of the differential equation given below
208 DLV PAEGLANA FBodod

dy

= + v.cosec?(x) = cosec?(x). cot(x)

Options:

. % ye % = (1 4 cotx) e 4 ¢

 ye % = (1 — cotx) e x4 ¢
2. % °

3 % ye®t* = (1 + cotx) e°°** + ¢

4.< ye °'* = (1 + cotx) e” °** + ¢

Question Number : 79 Question Id : 8135611359 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

} & -1
Find the rank of thematrnx |2 3 0
¥ 3 2|
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Question Number : 80 Question Id : 8135611360 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Suppose the number of accidents occurring on a highway 1n each day follows a Poisson random
variable with parameter 3. Then. what 1s the probability that no accidents occur today?

B8 Dod HEBEr 26D HAFEAVY R ez ) 3 TS BB
0008, & o D ArGAN 200M1E 3 PHLL VoSS

Options:

Physics
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Section Number : 2

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 40
Number of Questions to be attempted : 40

Section Marks: 40

Display Number Panel : Yes

Group All Questions : Yes

Mark As Answered Required? : Yes

Question Number : 81 Question Id : 8135611361 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The magnetic flux through a circuit of resistance R changes by an amount AQ in time At. Then
the total quantity of electric charge Q. which 1s passing during this time through any point of
the circuit 1s given by

R OGS 38 &) 08 DS Swosddw aIog), DY) 0d AT At d&0HIE" A
Sre)de8. & SVODANG', & LAEHANY” YHTFRY) AN JW(S B33 Q Jod?

Options:
AD
1.%«0_5‘?
AD
Q=—XR
2 % At
AD
Q=——"+R
3. % B
AQ
,
4. ¢ R
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Question Number : 82 Question Id : 8135611362 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following is not a unit of time?

So& T°e5° TPerdSd HATN0 STIA IB?

Options:
Lunar month

1 % WoB AV

Light vear

5 S°0ed E{}obébdan

Leap year
s 22025630
3. %

Microsecond

4w 208 Dok

Question Number : 83 Question Id : 8135611363 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A thin rod of length L 1s magnetized and has magnetic moment M. The rod 1s then bent in a

semicircular arc. The magnetic moment 1n the new shape 1s

L TE) 0 Dodd 6.0 6a), oBEBeu &) W) 08 LPvso M. & SAD a8

©33DoColT Hotrd). €A & §'8 BE"GotS” WO 08 F&So Jod?
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Question Number : 84 Question Id : 8135611364 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
Two wires of equal diameters. lengths [; . [; and having resistivities §; . S, respectively are
joined in series. The equivalent resistivity of the combination 1

ARLE a*s&*w (0 Botd) B0 TG0 SENT [ , [, dakn B Esd SN S, , S,.

T 36365 8O, e “doa‘il‘ﬁfg@ G, Bov) BG5S

Options:

2. % 11"_12

I +15
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Slll - 5212

Question Number : 85 Question Id : 8135611365 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The first law of thermodynamics confirms the law of

GERASSTR VG oD @ AFER) WVDERR?

Options:
Conservation of momentum of molecules
€963 GO QSISO

1, %

Conservation of energy
) @ 33 b@s@g&ﬁn

Flow of heat in a particular direction

28 OO B35°D & DIo
3. %

Conservation of heat energy and mechanical energy

338 S0B050 aireGEFLIUD DBHBLBD
4, %

Question Number : 86 Question Id : 8135611366 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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" . ' ' ’ T ’ i
Inan A.C. circuit, the current flowing 1s I = 5sin (100t - E) A and the potential difference

is e = 200 sin(100t). The power consumption is equal to

¢ A.C. Soaboss DS ptve I = 5sin (100t — ) A Hrday FEHES Bo e =
200 5in(100¢) w05, 3308 Do =

Options:
1 % 1000 W

, % 40W

e 20W

4. 0W

Question Number : 87 Question Id : 8135611367 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

For television broadcasting, the frequency employved is normally in range

B ——

892 PITIE FEERANT &HOIrAoS FIRYI(H0 T

Options:
, 30 — 300 MHz
5 % 30 —300 GHz

5 % 30 —300 kHz

4 % 30—300 Hz
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Question Number : 88 Question Id : 8135611368 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The displacement of a particle moving with uniform acceleration m time ‘t’ 1s given by
S =30t + 5t*. its initial velocity is

't 500" DSBS DATE0 BAM 28 Dot TINE), Fd FoFAHL VS0
§ =30t + 5t* & §9ddo

Options:

1 % 35 m.s?

> » 30 m.s7?

o
3 % 40 m.s

4 % 45 m.s~ !

Question Number : 89 Question Id : 8135611369 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
A uniform chain of mass ‘M and length ‘L’ 1s lymng on a smooth horizontal table, with half
of its length hanging down. The work done is pulling the entire chain up the table is

M §503, L TEDHV 28 DS FLORR, 28 VATodE £ 2, Vo T'¢) Sotd

DG VBT Gotrd. & FRVR PO e S er(itiods” BoLIVID DA dodh?

Options:
1. %
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MgL
MgL

Mgl
3.v 8

MgL
4 ® 16

Question Number : 90 Question Id : 8135611370 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

When two 1dentical capacitors are charged ndividually to different potentials and then
connected in parallel. after disconnecting from the source,

208 6520 Bothd 3FAGR Bocd B THIohe 0 BDFHED T vAroddorr
0% STd 880 Aod & BRotsecod. AR,

Options:
Net charge = sum of initial charges
| S0 &D%0 = S0 D70 2o

Net potential difference # sum of individual initial potential difference
DEB TOJoDES Bcso # SIS TY TOJaHeS © Ao

Net energy stored < sum of individual mitial energy
Qo Babecd < 38ns SO 30 dndo

AP EAMCET 2020 )
collegedunia:s
India’s largest Student Review Platform

el



AP EAMCET 2020

All of these

f:?;b‘!)i AOADD
4. -

Question Number : 91 Question Id : 8135611371 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The acceleration at the end of 2 s. of a particle whose motion is represented by the equation
S =4t>—8t* +5t +41is
28 Doty CI0E) BOTY § = 4t — 8% + 5t + 4 0 WPHIY Y 2 WV 5o

8o & Do) S(Gtao

Options:

1 & BRIE™

g
2 ® 40 m.s

-2
3 % 37 m.s

-2
4 % 35 m.s

Question Number : 92 Question Id : 8135611372 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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232 . . .
oo 111 emits 6@ and 4/ particles and gets converted into a lead. The mass number and

atomic number of lead 1s

“0Th, 67 2B 45 Serer) DeBodd BT Ardod. o Hide VS, GIT"3

’003}5, DEATED 'eboaJ§ Dodh?

Options:

| 208, 82

, % 82, 208

5 % 210, 82

, « 210, 84

Question Number : 93 Question Id : 8135611373 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Magnetic field dB to a current element at any point on its axis 1s

DS DIeTotd Tr\ 03N AIVE) VLN D BT Dotid) S VLI 08 EAw dB

Options:
mininium
SN

1. % e

ZE10

a\mpn
2.9
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varies between mimimum and maximum
sbgoz)é , rsag-n‘oé B065§ GO

depends on the position of the point

Do TN P BECHE
4, ® -

Question Number : 94 Question Id : 8135611374 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

If the radius of a sphere 1s doubled by keeping its mass constant. compare the moment of
mertia of the old sphere with that of the new sphere. about any diameter.

B9(0°3 :’gcsanv Godd 28 Aivo aI0E), 3‘55’“8‘3,1 0102 BATE). BT w8 TR0
0o ¢ Sodasn §¢ Avew 26d( ravs) Jeryod.

Options:

- 11:12 = £1

Question Number : 95 Question Id : 8135611375 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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A wire of length 1 m and radius 2 mm 1s vertically clamped. The lower end 1s twisted
through an angle of 45°. The angle of shear is

1m Ty, 2mm a*igﬁgma 5D SR LowAwIT DT, §odd &Py 45° Erd’
BN, DA Sracdd Dewsd

Options:
1. ¢ 0.09°

2, 8 B2

3.8 9°

4, % 90°

Question Number : 96 Question Id : 8135611376 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which among the following has dimensions of charge?

Sod T°IS° eDIIW g DA £H &) & DB?
Options:
SGF/EE

1. %
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—_—

E, —
— E - ds
Ho

Question Number : 97 Question Id : 8135611377 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A coil of area 10 m? is placed in a uniform magnetic field of 0.3 k [b.m ™2, with its plane
perpendicular to the field. The coil rotates at a uniform rate to complete the revolution in 8 s.
find the average e.m.f. in the coil during mntervals when the coil rotates from

1. 0°to 90° position

i.  90° to 180° position
1. 180° to 270° position
iv. 270° to 360° position

10 m? Do (o 28 Wi 0.3k b.m™ &) w8 D ©abF)ed 830, &
S8 VORI Goth. &8 ot DSOAT ACMAR 2,8 Fdordn 8 5 DaaHIW'
Soot) & s’

. 0°&00c 90°

ii. 90° o 180°
iii. 180° ot 270°
iv. 270° &voc 360°

2 BHEVE” WMD) Wit O DT \VS LT

Options:

3/ y:3f y: 3] p-—3
e [2V; 2[aV; T2 oV; 7O HV

379 =3 v ¥y 3
. 3 [2V: T2 foV; 2oV TV

L OV OV 0V; 0V
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By -y o By B
o [2V: ~2[2V3 22V 2oV

Question Number : 98 Question Id : 8135611378 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

1

The time taken by a force of 2 N to produce a change of momentum of 0.4 kg.m.s" " n a

body 1s

28 S0 NS 2 N L) DOrARN\G &8 SRPY” 0.4 kg.m.s™ Q&f)igﬁﬁné‘
APENTIEAS DE 5Vo Jod?

Options:
1. ¢ 0.2s

> % 0.025
3 % 0.5s

4 % 0.05s

Question Number : 99 Question Id : 8135611379 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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An imagmary equilateral triangle ABC of side length 2 m 1s placed in a umform electric field
E =10N.C™* as shown. Then, V, — Vg =

A,B,C DotoPud, 2m TekP) 20erud OyE w8 &P S DEPT GRRIN
E =10N.C™" o 28 D568 Ded $308°, §0d DOAS" Brdd DG 6,63,
Vd = VB =

Options:
1,82V

> % +5V

3, ¢ —1U¥

Question Number : 100 Question Id : 8135611380 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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When will a body of mass 20 kg moving at 15 m.s™". subjected to a retarding force of
100 N. come to rest?

20 kg §3(0°3 0 28 20 15 m. s DAawS Potreiw) @, AP 100 N
2063 (AB'EE) 0o DIBY, &8 D) dodd STVt BMHIAE? [:Jéae.: NO$ 5008 ]

Options:

1.v38
2 % 65
, A

4% 958

Question Number : 101 Question Id : 8135611381 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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As shown m the figure below, a point charge ‘q’ moves from pomnt ‘P’ to a pomnt 'S’ traversing a

path PQRS i a uniform E . The electric field s directed along a direction parallel to x-axis. The
coordmates of, P, Q, R and S are(a, b,0) (2a,0,0) (a,—b,0) and (0,0,0) respectively. What is
the work done by the field in the process?

w8 DI g E S Z3308" Do) ‘P’ oé Doty ‘S’ 568 PORS e agaa
argané‘ DOSrER08. :)mﬁé S0 x-0fan H3S 6B, P,Q, R, S © ooTw
(a,b,0) (2a,0,0) (a,~b, 0) &80 (0,0,0) L0 En G(T BOLRED DI Jod?

Options:
). % 9Ea

5> —qEa
3. 0

4. % GEb

Question Number : 102 Question Id : 8135611382 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The photoelectric threshold for a certain metal surface is 360 A. If the metal surface is

irradiated by a wavelength of 1100 A, the kinetic energy of the emitted photoelectrons is

2P 6 FIS 5700 Dty 8602 BariBE 0 360 A o &' rdosw » 1100 A

am%m (10 D800 DSID0NSD DeVIE 50O QUE‘:‘Q (1283

Options:
x 1.1eV

1. %

Question Number : 103 Question Id : 8135611383 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A closed organ pipe and an open organ pipe of same length produce 2 beats/sec when they
are set into vibrations together in fundamental mode. The length of open pipe is now halved
and that of closed pipe 1s doubled. The number of beats produced will be

DR T 6R) 28 P F, 28 BBR FRA FEDE FYI[ors
Son0DBD DA DRY0BATL 2 DE5/PERD. B BN Fw TP daw,
308 82800 Ta0 9oy B, R DS DdYET® Wod ?

Options:

1.¢7

2.3""4
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Question Number : 104 Question Id : 8135611384 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The number of electric lines that emerge from a finite charge +q 1s

DB DEETDFAN +q Aok DLBE DES VTPV Doy

Options:
infinite
1 % 29 00BN

any finite number but not equal to zero

2 BT AT7) 57 DB o3y

proportional to the charge

5 b@gwﬁ%méss 9:8085° AT A" GotO)

ZE€10

Wé}s&n
4, ®

Question Number : 105 Question Id : 8135611385 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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In the following circuit. the equivalent resistance between A and B 1s

0B Heo%Ha0e” 4 Hdosw B © 065§ Booy DE 30

4L 602
H WW l YWy——

A &— 220 —
~10V -2V
——-/ww—j——| S—wn—

80 12Q

Options:
1% (20/3) Q

, % 109

3, v 1682

4% 209

Question Number : 106 Question Id : 8135611386 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

An electron having charge 1.6 X 107 € and mass 9 X 107! kg is moving with 4 x 10° m.s™*

speed in a magnetic field 2 X 107 T in a circular orbit. The force acting on electron and the
radius of the circular orbit 1s

16X 107 C esd8ew. 9 107 kg ¢550°3 i) dogeao 4 X 10° m.s™ Sdwd 2x 107 T
0D 08 EFAVE" HTTEANMT SrHR0R. TR P DI B LA MBA KT
85 mg&gmwm BVdoG.

Options:
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. % 128 X 107 N, 1.1 X107 m

, u E28 % 107 % §, L1 RIS

; % 128 X 1077 N, 1.1 X107 m

-13 -4
4‘Wﬁ.l.28 X 10 N, 1.1 X107* m

Question Number : 107 Question Id : 8135611387 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The colour code for a resistance of 22 Q + 5% 1s

22 Q 4 5% DB IS Goroe) DoSdAn

Options:
Brown - brown - black - gold

i % B G0 - HG0S - He) - LorTEaD

red - red - brown - silver
5w DY - A - HGOD - Dod.
red - red - black - gold
T, DAY - DAV - DAVY) - WoITCAD

red - red - orange - silver

4% DEOR) - DY) - T80 - Dot
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Question Number : 108 Question Id : 8135611388 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Kinetic energy of rotation of a flywheel of radius 2 m. mass 8 kg and angular speed

4rad.s™* about an axis perpendicular to its plane and passing through its center is

2m 5o, 8 kg 303, 4rad.s™! E'rdah Stfo DA Soo Mot Vo Berdd
VOOTT &) VDG SB7 Wgo e (SR 3 0D

Options:
, » 12817

3 % 2561

2 % 927

Question Number : 109 Question Id : 8135611389 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

What 1s the pressure required to reduce the given volume of water by 1% ?
(Bulk modulus (K) = 2 X 108 N.m™?)

1% Q& D0RDBITET) BAESEEAS Jod Do BBVGo BYHBE?
(es030¢8 (oo (K) = 2 X 108 N.m™?)

Options:
. % 2X10°N.m™?

5 ¢ 2X10° N.m™2
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3 % 2% 10" N.m™ 2

4 % 2X10° N.m™

Question Number : 110 Question Id : 8135611390 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A particle executes simple harmonic motion between x = —4 and x = +A. If it takes a time
Tytogofromx=0tox=A/2and T, to go from x = A/2 to x = A. Then

x=—A0wx=+4v .tqu]S 28 S8 O ‘T’.J“U“ejés S0Rd3008° gal&. €3 Stdo X =
0 ot x =A/2 8 86T :Jég 5P T; 0805w x = 4/2 Ao x =4 &

SBTochs) D8 sTvdw T, wond.

Options:

1, v a5

Question Number : 111 Question Id : 8135611391 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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A mixture of Yellow light of wavelength 580 nm and blue light of wave length 450 nm 15

incident normally on an air film of thickness 2.9 X 10™* mm. The colour of reflected light is

580 nm SGorBG 300 (0 2R D3 S0 S08aty 450 nim St B fi DdGofd

S0 (W, 030N ¢ 29X 107" mm Hoocsaw o a8 ™Y B8 HAJNYSIT) av.

DTGHNAN] 508 Gofhd

Options:
Red

Question Number : 112 Question Id : 8135611392 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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One mole of an 1deal diatomic gas undergoes a transition from A

P {kPa)

to B along a path AB as shown in figure. The change in internal

e

energy of the gas during the transition is ) S—

s e s el . . .

D008" WP ol w8 ArS AEAT@S 656, TonY A
oG, B 8 AB o tr(0° Sr8ocsi 0. er 8Ly

F T SRRy

@ ©o303 386’ Aoy dod? R

Options:
| @ —20k]

2 % 2017
3 x —12 k]

a4 % 20 k]

Question Number : 113 Question Id : 8135611393 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

W K Roentgen discovered

W K orotiae esb::gjdez

Options:
Short radio waves
2R BEL.o3r SGorTen

1. %

X-rays

3 o X- Soezen
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Electrons

| QOSTRD
3.8 |

Laws of electromagnetic induction

n DS €07 08 6L DADATLD

Question Number : 114 Question Id : 8135611394 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A source 15 stationary and the observer 1s in motion along a line joining the source and the
observer. If the frequency heard by the observer 1s 1% higher than the true frequency. the
ratio of velocity of the observer and that of sound in air is:

2980 ?gcﬁn. DOV, €3 ze.a'JS‘*:)l 208050 9 £0 B Jokd SERVBIT) .
DBV D) FDLYRA(W, I FRLYB[eST) 1% D) oS, BBV Defo

SoBotn P’ #1y Srre g
. :

Options:

1__v,,,1=100

, % 2:100
5 % 3:100
4% 1:10

Question Number : 115 Question Id : 8135611395 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Four projectiles are fired with the same velocities at angles 25° 40° 55° and 70° with the
horizontal. The range of projectile will be largest for the one projected at angle

$8208 25°,40°,55° 08050 70° §mren BRAF A& Srud’ TPl SRR Do
Sr. T, 163 TR o LD HR0Y ey S

Options:
1 % 25°

2. v 40°
3, % 95°

4 % 70°

Question Number : 116 Question Id : 8135611396 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

A tran 15 moving towards north. At one place it turns towards north-east. Here. we observe that:

630 &% DY) WS P SRR B. 28 TN I B G6-rdd) B3 2 8BAed. B
08 o 28300 Akt

Options:
The radius of curvature of outer rail will be greater than that of the inner rail

eI DL A0S, aguvavsa-»da» 500 DErSot) e D
1.¢ e @ ©

The radius of curvature of mner rail will be greater than that of the outer rail

. '8 Ler B0E), agww5b-oan e DTG0 DS D
2. % e @ &
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The radius of curvature of the outer and inner rails will be the same
ErR| D SoBosw &5°08® DTV AE), .‘bg@m\g&gw RET DT Gotdd

The radius of curvature of mner rail will be infinite

e5°H® Her G308, :)s,wa‘&%"dm e9do0bo0.
4, % = @

Question Number : 117 Question Id : 8135611397 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Minimum excitation potential of Bohr’s first orbit of Hydrogen atom 1s

PEBD DOATEPSD &6 W0ad 5[ e, L) edad TOJIWES

Options:
1.% 3.6V

5 » 102V
% 13.6V

4 % 3.4V

Question Number : 118 Question Id : 8135611398 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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: A
A system goes from A to B via two processes I and II as

shown in the figure. If AU; and AU, are the changes in
internal energies in the processes I and II respectively. then I

2 3[% A Avod B £ Dot esowd’ 1 200t I oS *’*<> .

WP Do Sr8dq). bg@ I Sodosw Il & & ©od0d

35008 Soren HAR™ AU; 8ok AU, , o >
\v."
Options:

1.« ﬂUl - AUZ

, o AU > AU,

. » AU < AU,

4« AU; % AU,

Question Number : 119 Question Id : 8135611399 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

A uniform solid sphere of radius ‘R" and radius of gyration ‘K about an axis passing through the
centre of mass. is rolling without slipping. Then the fraction of total energy associated with its

rotatton will be

0800 SEOSD) w8 DSOS M A a=5a°gw R, 330°3 Soghito oo Fdoid)
05500 DAJWM™ Zes avéﬁga» K. o 2ogaw (1Ou3SS” Fdom Ad238 dwe), erddw=
Options:

K?*+R*
x K2

g+
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Question Number : 120 Question Id : 8135611400 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Two thin circular discs A and B of radit 2 cm and 4 cm are in a liquid at the same depth. T,
15 the thrust on A and T thruston B. Then T, ¢ Ty =

TRT0 2 cm 200050 4 cm (10 Goth) DS HTTE DS 4 LA B w a8
BOWY 28 &0 3G G ow. A P &6, ©dvot Lo Ty 2Bakn B p &l edeow
o Ty wod T, ¢ Ty =

Options:
1,% 281
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Chemistry
Section Number : 3
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 40
Number of Questions to be attempted : 40
Section Marks : 40
Display Number Panel : Yes
Group All Questions : Yes
Mark As Answered Required?: Yes

Question Number : 121 Question Id : 8135611401 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

For the reaction. 2Hy(g) + 05y — 2H,05). At 300 K. AG and AH of water are —228.4

kl.mol™* and —241.60 kJ.mol™* respectively. The. calculate the value of change in entropy

for the given reaction.

300 K 6 200 Qg); AG B0ty AH Deodeo SERr ~228.4 kl.mol ™, ~241.60 k1. mol™
wad, 2Hy ) + 05— 2H0g) SO ot Srend fitdocsod,

Options:

% +88]

, u T44K

L % — 8817

4 o— 441
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Question Number : 122 Question Id : 8135611402 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following represents the structure of inorganic benzene?

o8 Ao o B ATTIS BoRD YT ArAWB?

Options:

B B
n/ *E;\N it \H
|
1 & H
H
|
LW S
% &
B B
H'/ - \H
C
2 % i
H
|
N
H g H
\Cf/f i
| |
N N
H/ \\m[‘/ \u
|
3 % H

AP EAMCET 2020 )
collegedunia:s

India’s largest Student Review Platform

el



AP EAMCET 2020

4, %

Question Number : 123 Question Id : 8135611403 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following conclusions could not be derived from Rutherford’s o -particle

scattering experiment?
SoBTS" 6reb DO a-58 DED PAITAAD Aot TWLS HISHW AH?

Options:
Most of the space in the atom 1s empty.
DBATED)S” 9o 2" BIPA(HW

1 ™

radius of the atom is about 10™1% m while that of nucleus is 101> m.

, x DO 353“8;533 o) 1071% m, Sogis ars&%:m 107 m

Electrons move in circular paths of fixed energy. called orbits.

" DUTRC 3867 VDWE D6 DD (L JT°T°0 SO SR
3. 1 e

Electrons and the nucleus are held together by electrostatic forces of attraction.

DOTA 8AD Sodso Dmsa"sg PV LoQ0DE G0t
4.8 =T
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Question Number : 124 Question Id : 8135611404 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which of the following metal ions is colorless?

0B T°e5° D &5 93RS Gofd) Gokdd?

Options:

1. 8

2w Sc™7

3.% VY

4% CT4+

Question Number : 125 Question Id : 8135611405 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following arrangements is correct regarding the three types of radii of an atom?

88 DOATIOR) T0E) HPE) G400 T(IFES0OL Dotofbot) Bde B 2 83088 DOGHYA?

Options:
Metallic radius < Covalent radius < Vander wall’s radius

&' TrGo < AT BDOD D"Sé"gc < T0&6 TS 355"8::

1. %

Covalent radius < Metallic radius < Vander wall’s radius
A Te b ob by i lo vt .:J:S&gn < 5% w}g&g:: < T0&6 T ’7’53"3"
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Vander wall’s radius < Metallic radius < Covalent radius

T0lb I°¢5 ;J°5£fc‘»n < &S :.1“55"6:: < HAArBOD D‘éb"do
5 ® @ @ @

Metallic radius < Covalent radius > Vander wall’s radius

&' T Go < 28003 2DoH T§FGo > Tokb TS T Go
4 % ® ® ®

Question Number : 126 Question Id : 8135611406 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which of the following statements i1s not true for hydrogen?

1) It exists as a diatomic molecule
2) It has one electron in the outermost shell

3) It can lose an electron to form a cation which can freely exist

4) It cannot form ionic compounds

TEBS D Dowoded) Sod VIBT VS’ DB BeGDN?
1) 08 SGDOIEDS VEVYTT EotLod
2) & eriry 55.56‘ 08 aejesvs 20 59A &otod
3) 28 o)ﬁ'es"m JHEDDOD Lo ?gcs 2366‘ G0 & BRD.

1) 08 BAIrdS DTTVR 6D S

Options:

1, % 1

(B

w
<
L
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Question Number : 127 Question Id : 8135611407 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

When an iron rod 1s subjected towards an atmosphere having very high content of
moisture, which of the process is predominant?

O(OS B 6I) TTH6RAS’ 28 FWD $&D GodIYYD, 0TI’
HEHAMT 200 DD DH?

Options:
Chemisorption

SDIODD
1. "

Physisorption
DRIEND

Sorption

3 % F 690

Luminescence

D38

Question Number : 128 Question Id : 8135611408 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The correct statement among the following. regarding defects in solids 1s

1) Frenkel defect is favored by small difference in the sizes of cation and anion

2) Frenkel defect 1s a metal excess defect

3) Trapping of electron in the lattice leads to formation of F-CENTRE

4) Schottky defect has no effect on the physical property of solids

;nmwgvué‘ (10 65" VL Votioow), SoBT S’ B LAV DIWDAD AB?

1) SoirS, BAACS DBEFAre W) Sto JVR DoBS & AW 6.
2) 20885 500 98BS &' & DA

3) SIS JUTD 0B THEID VD F-Somren J6yGETow

4) e, SDaw 0D FOS GUYO P D LIPS Golcd.

Options:

1% 1

(8]

2..%

3.¢

Question Number : 129 Question Id : 8135611409 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following metal 1s used as a catalyst in Haber’s process of ammonia synthesis?

$oBTY" Treb HEBY" AT Iakr VeFIRS” GBSV TERE 6 riw JB?
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Cobalt
& e

Copper
2. % T°0

Zinge
3 % 205

Iron

4 o BB

Question Number : 130 Question Id : 8135611410 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Find ‘A" in the reaction* R — OH + A ———— Schiff’s Base "

“R—0H+A — Qdy &6 :5656‘ 3032880 ‘A7 A dVDE?

Options:
Aldehyde
esr&

S e

Acid
€203

Alcohol
ue.:a’ﬁei
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Grignard’s Reagent
fjn‘(lg 5°0S0D

Question Number : 131 Question Id : 8135611411 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Match the following elements, given as hints to their furst, second ionisation enthalpies and

electron gain enthalpies.

308 LSV AP VTV &HAIrAD T Aes, Ardah Labssn
ord\0d B0 JTFS Tir| Jomrdywd adHEWA

Elements / doresren AH; AH, A,

1. Most reactive non metal
d{od O[30 B TPA A 419 3051 -48

11, Most reactive metal
@@50@ ‘;50»5%0 236542 B. 1681 3374 -328

111, Least reactive element
09 84,3 BU{IS (0 Jregan C. 738 1451 -40

1v. Metal forming binary halide
536 POE K Sasrdd B S D. 2372 5251 +48

Options:

, x (i—4), (ii—B), (iii—D), (iv—C)
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,  G—B), (i—4), (ii—C), (iv—D)

4 % (i—B), (ii—D), (Gii—A), (iv—0C)

Question Number : 132 Question Id : 8135611412 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

One mole of an organic compound 'A' with the formula C3HgO reacts completely with two
moles of HI to form X and Y. When 'Y" 1s boiled with aqueous alkali it forms Z. Z answers
the 1odoform test. Then the compound 'A' 15

C;Hg0 é‘cbéer o A" 00 D0 ¥daw 2 Areww HI & 6§ Jod, X' S0dakn Y’ &9
DETOR 26,6008, 287 O e[S Y R v Z' 80 aidyoB. Z' o) ¥
OE 6], 25 Bdyob. AN, 1) ¥ A D0iYAY?

Options:

Propan-1-ol

| x S0-1-08

Propan-2-ol

5 % JDD-2-28

Ethoxy ethane

L STy GBS

Methoxy ethane

4. b"‘?‘“g.) &B
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Question Number : 133 Question Id : 8135611413 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Calculate the mass of AgCl precipitated, when 25 ml of 35 % solution of AgN0O; and
25 ml of 11.6 % solution of NaCl are mixed 1s

25ml © 35 % AgN 03 S08asn 25 ml © 11.6 % NaCl 00 ST 58000y
AgCl 80087

Options:
1.v 78

4.% 198

Question Number : 134 Question Id : 8135611414 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The pressure exerted by a mixture of 3.2 g of methane and 4.4 g of CO, contained ina 9 dm®

flask at 27 °C 18

27°C 56 8 9 dm® F3° 3.2 g DBS 200w 4.4 g €0, © D3 DA DEdo Jod?

Options:

- 1.62 atm

, % 8.00 atm
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. » 082 atm

4 % 3-10 atm

Question Number : 135 Question Id : 8135611415 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The increasing order of acidic strength among the following compounds

I.  Benzoic acid
II.  4-Nitrobenzoic acid
III.  3.4-Dinitrobenzoic acid
IV.  4-Methoxybenzoic acid
& S8 BrUe” T°¢) edevo IS B8RS0
I  So&'ons €300
[I.  4-2¢58d oS 8o
II.  3,4-G d&5'Go& ans 8o
V. 4-53@%3 Bo&’ a0 500
Options:

I Rel< iV

1.%

2ﬁl<:lV<:lI<:lII

1 ¢ W & ELSTE S

sx VW elam <
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Question Number : 136 Question Id : 8135611416 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

03 + 2Kl (gq > ?

03 + ZKI{&'U) > ?

Options:
10,

1. %

Question Number : 137 Question Id : 8135611417 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

During electro-osmosis of Fe(OH ), sol. which of the following occurs?

Fe(0H); ¢ a3ng), 3@55 GTDRGA HS0HS’, SoBTAS” DB 26M?

Options:
Sol particle move towards anode
JS ST BIE DD SERVTOW

1.8

Sol particles move towards cathode

5 B &5 SETe SHE DIPS SELLVTOD
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The dispersion medium moves towards anode

3 ¢ DENS AIPASAW BJE DHD SALVD

The dispersion medium moves towards cathode

, w DED OIS0 SEE DD SBRVA

Question Number : 138 Question Id : 8135611418 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The geometry of SF; molecule is

SFg €605 030E), as"l(j:bécﬁo N

Options:
Tetrahedral
6 Do
1. %

Planar

, % PRSI

Octahedral

oS
3. 8%

Trigonal bipyramidal

., OF eah BRrETjSdo

4.

Question Number : 139 Question Id : 8135611419 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
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Which among the following is a bactericidal antibiotic?

$08T°¢° DB LSBT Bod esotdeIasTs?

Options:
Penicillin

- :333&5

Erythromycin

, % DOSOVD

Tetracycline
OErRED

3. %

Chloramphenicol

' §o~=c:;.‘0§° (5]

Question Number : 140 Question Id : 8135611420 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

The rate constant 1s same for 3 reactions of order I. IT and III respectively. the unit of
concentration being in moles/litre. If the concentration of reactant i1s umity, rates of

reaction Ry, R;, R; will be

DA L 1T 2080w III saresen o t:565053 ot f{gu“osw NP, adTPCedR)
DAEIAN :‘.irg.p/be.)é. Sairadgin ang) mEd J5Tos0na, 6{o e Eo‘ns"w

Ry, Ry, Ry 0%

Options:

1_¢;R1 =Ry = Ra
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. Ry < R < R;

. Ry = R, # R;

Question Number : 141 Question Id : 8135611421 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

When soap 1s dissolved in hard water, 1t’s cleaning ability comes down. This 1s due
to the formation of:

a0y DO BeNG" E8AIY D T BFAW B 3"‘53853” SR 576D

$08T0S" D& Doy DRSV?

Options:
1 % (C1?H35'COO)ZSH

§ o (CI?H.?'SCOO)ZCG

, % Ci7H3sCOOL

 C,;H:cCOOH

4. %

Question Number : 142 Question Id : 8135611422 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Find the non-semiconductor element among the following.

$oBT°IS” ©G-T S0 57 JrUsR) Mbodod.

Options:
1. 8 Ge

2. v Pb
3, % Ol

. As

Question Number : 143 Question Id : 8135611423 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

10 g of a gas at STP occupies a volume of 2 L. At what temperature will the volume be
doubled, if pressure & amount of gas remain constant

STP 965 10 g Traio) 2 L 000armn $90 o, ©F @503 000 6d o
£BR8006" T VOBATH B0 BASYYE & &' Jodeh Srdodves”

Options:

, o 546 K

5 % ~2TAE
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Question Number : 144 Question Id : 8135611424 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Increasing order of boiling pomts in the following compounds is:

2 DD FTL DM EX'HS (@B o) HBA S0Bw

CH;COOH CH;CH,CHO CH)CH,CH,OH CH;COCH,
(1) (11) (111) (1v)
Options:

Lo @) < () < (i) < @)
, x () < (iv) > (ii)) < (i)
5 % (iv) < (i) > () < (i)

4 % (W) < (i) > (i) < @)

Question Number : 145 Question Id : 8135611425 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Predict the correct order of rate of diffusion of the following molecules.

S0 ToiNHV TR Bew DBGDD SA°A) BV,

Options:

. % S0, > 503 > PCly > CO,

5 % PCl; > S05; > S0, > CO,
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3 ¢ €02 > 50, > 505 > PCl,

n CO, > S0, > PCl; > S04

Question Number : 146 Question Id : 8135611426 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

For a first order reaction Ac — 5B,. the concentrations vs time plot is as shown. The half-life
of the reaction 1s

Concentration

20 min 30 Aoy

[ime 485058

200G §Aros 6 A - 5B, & mEd-soawe Gar WA 2 DG God. ADR,

G36{ TR TPV dodd?

Options:
120 minutes

_— 120 Daren

109.75 minutes

, 1 109.75 ddodren

112.5 mmutes
3 % 112.5 daaren
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140 minutes
4 o 140 Dren

Question Number : 147 Question Id : 8135611427 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Calculate the mass percentage of 3 g of solute A dissolved in 18 g of water?

3g mrddo A. 18 g B’ S6A &)\ TIBAD &6 T3 dodd?

Options:

. % 15.28%

> 14.28 %

. % 1628 %

Question Number : 148 Question Id : 8135611428 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Which of the following statements 1s true?

1) 200ml of 0.2M NaOH has same number of moles of solute as 1000 ml of 1M NaOH
2) 200ml of 1M NaOH has same number of moles as 1000 ml of 0.2M NaOH
3) 100ml of 0.2M NaOH has same number of moles as 1000 ml of IM NaOH

4) 2000ml of 0.2M NaOH has same number of moles as 1000 ml of 1M NaOH

808 PIBTVS’ DB POFHA?
1) 200 mi 0.2M NaOH &° fio» gridédadon oree Roa 1000 ml 1M NaOH &° o
TS Areow Ve[S FATHAN

2) 200 ml 1M NaOH &' i grddn areve voa 1000 ml 0.2M NaOH &" o
TS0 AruoR VoS VAT

3) 100 ml 0.2M NaOH &' v gra)dan v o 1000 ml 1M NaOH &’ (o

EDSAD Areow Vo[ AATHAD

4) 2000 mi 0.2M NaOH " ffo grdain Arevw Hopf 1000 ml IM NaOH &° o
TS Areow Do FATHAN

Options:

1.% 1

-
&V

L]

3, =

Question Number : 149 Question Id : 8135611429 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

AP EAMCET 2020 )
collegedunia:s
India’s largest Student Review Platform

el

Orientation : Vertical



AP EAMCET 2020

Which of the following metals cannot be obtained by auto-reduction of their compounds?

S0 T8 @ &30 ) ¥do AW, VAo LaSGE0 HD iy Borsecied?

Options:
Lead
1. % DG

Mercury

, x D088

Titanium

" E3erdo3 0

Copper
4. % 526

Question Number : 150 Question Id : 8135611430 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following 1s called “Lunar Caustic™?

S0BT°DS° b 578 T Hend Lad DA?
Options:

1. 8 N(IOH

> » AgCl

3 » AgOH
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. v AgNO;

Question Number : 151 Question Id : 8135611431 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option
Orientation : Vertical

Which of the following statements is true?

1) Tertiary amines react with acid chlorides
2) N-Ethyl benzene sulphonamide is soluble m alkali

3) N. N-Diethyl benzene sulphonamide is soluble 1n alkali

4) Tertiary amines react with Hindberg’s reagent

208 HIBIIVWS’ DB 2w ?
1) €382008 WS e e EBE 08 w6| Jocodo
2) N- 36 B0 DONIE FEI0S S6MM
3) N, N-Z &35 802 DONIE 26208" S0
1) rok 86 S80S B02058 RO WG| TowoTrow

Options:

. % 1

(B

M

J

Question Number : 152 Question Id : 8135611432 Question Type : MCQ Display Question
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Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The total number of ¢ and m bonds present in the following compound respectively are

S0 -,b:a:&vmams‘ (0 6 SBAO T LIETY VoW[RV SARMT

H>N COOCH;

OH
Options:

1 % o18, w3

5 _jJZ]., T4

3 8 023, ©5

., 016, m4

Question Number : 153 Question Id : 8135611433 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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Which among the following 15 a correct statement based on Heisenberg's uncertamty principle?

) It 15 impossible to determine exact position and exact momentum of an electron simultaneously

2) It is applicable to even macroscopic objects

3) It 15 possible to determune the exact position and momentum of an electron simultaneously

4) Tt 15 impossible to determune the exact position and momentum of macroscopic object simultaneously

S 86 ©I S DA VEEA SoBTE" D DB HISIKW?
) 8 s*0ane’ augiu aaws) g-saa» 8030 (0080 B0 Aoworsdaw
2) D¢ SRHLL 7B BRI
3) 98 S0’ &}2395“.5 ga:m 0B @ Srfedoo Agavotsddy
4) D¢ SR g»:m 0000 G380 DESV0E" Aot B¢

Options:

1.¢ 1

2

2. %

3. % -

Question Number : 154 Question Id : 8135611434 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical
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The product Q and R in the following reactions respectively are

lindlar’s
catalyst 04
H,+ CH;C =CH > P » Q+R
in + H,0
S0 cﬁdsé“ D6\E Q, R &d\T) 0 Budod
Dok erb 0
H,+ CH,C = CH —="2,p S5 Q+R

Options:
Ethanol. Methanoic Acid
. BESS, DBS0NS €200

Ethanoic acid. Methanol
5 % QES0S DA, DGBSS

Ethanal. Methanal

% RETS, AT

Ethanoic acid. Methanoic acid
RGBS 3D, ABS0NS €205

4, %

Question Number : 155 Question Id : 8135611435 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The fraction of voids occupied in inverse spinel compounds are

DS 0YS SEVRS o9’ (Gogrees’) 550G AN

Options:

(o
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1/8™ of tetrahedral voids and 1/2 of octahedral voids

1/8™ Oerirees Cogren Sk 1/2 &57irEeS Sogren

1/2 of tetrahedral voids and 1/8™ of octahedral voids

x 1/2 O Gogren 20Bakn 1/8™ es57irges Sogren

1/4™® of tetrahedral voids and 1/8™ of octahedral voids
1/4™ SerirgeS Cogren Sudasn 1/8™ esgrirges Sogren

1/8™ of tetrahedral voids and 1/4™ of octahedral voids

- 1/8™ SeriregeS Gogren ook 1/4™ BErE® Soren

Question Number : 156 Question Id : 8135611436 Question Type : MCQ Display Question

Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which among the following oxides is the most basic?

$08 TGS B OB LD TSV SIH Gotd0?

Options:
1. % CO

, x Al20;

4. Nazo
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Question Number : 157 Question Id : 8135611437 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Total number of hydroxyls(—OH) groups in saccharic acid are:

F$88 AN WD) BN (—OH) dBrFed D) ?

Options:
1.% 3

Question Number : 158 Question Id : 8135611438 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The formation of molecular orbitals can be described by the linear combination of
atomic orbitals. Which one of the following correctly represents the formation of
bonding molecular orbital from the atomic orbitals having wave functions ¢4 and 5?7
DO 8EPY) BRAH SUOE TH{T° BE-e30)EPYDy DEVEEra. 1, DB P
ofi HR0HRN (1) DOJTEN B0, LoBotd eE-esBErwhd) 5363&38, PR
306 2a0S6E0S" DB 3D Biwed?

Options:

- Ya X Pp

2_@4¢A/¢B
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3 o Ya+Yp

Ya— ¥s

Question Number : 159 Question Id : 8135611439 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

The number of isomers of CcH;5 is:

CsHyp S (10 Je)T(0 Dodd| BDC..

Options:

1.¢ 3

Question Number : 160 Question Id : 8135611440 Question Type : MCQ Display Question
Number : Yes Is Question Mandatory : No Single Line Question Option : No Option

Orientation : Vertical

Which of the following does not exist?

$o0d 'Jaéoéva‘*vé‘ O LDotICL?

Options:
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® X&'Os
4 XeOF,
x XeFg

P NeF,
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